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NEW QUESTION 1
- (Exam Topic 1)
Which of the following data model are included In the Splunk Common Information Model (CIM) add-on? (select all that apply)

A. Alerts
B. Email
C. Database
D. User permissions

Answer: ABC

NEW QUESTION 2
- (Exam Topic 1)
Given the macro definition below, what should be entered into the Name and Arguments fileds to correctly configured the macro?

A. The macro name is sessiontracker and the argument are action, JESSION.
B. The macro name is sessiontracker (2) and the action JESSIONID
C. The macro name is sessiontracker and the argument are sectional ,$ JESSIONIDS.
D. The macro name is sessiontracker (2) and the argument are $action ,$JESSIONIDS.

Answer: B

NEW QUESTION 3
- (Exam Topic 1)
Which of the following Statements about macros is true? (select all that apply)

A. Arguments are defined at execution time.
B. Arguments are defined when the macro is created.
C. Argument values are used to resolve the search string at execution time.
D. Argument values are used to resolve the search string when the macro is created.

Answer: AC

NEW QUESTION 4
- (Exam Topic 1)
Which of the following statements describe calculated fields? (select all that apply)

A. Calculated fields can be used in the search bar.
B. Calculated fields can be based on an extracted field.
C. Calculated fields can only be applied to host and sourcetype.
D. Calculated fields are shortcuts for performing calculations using the eval command.

Answer: BD

NEW QUESTION 5
- (Exam Topic 1)
Which of the following statements describes the command below (select all that apply) sourcetype-access_combined | transaction JSESSIONID

A. An additional filed named maxspan is created.
B. An additional Held named duration is created.
C. An additional field named eventcount is created.
D. Events with the same JSESSIONID will be grouped together into a single event.

Answer: BCD
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NEW QUESTION 6
- (Exam Topic 1)
Which of the following statements describes POST workflow actions?

A. POST workflow actions are always encrypted.
B. POST workflow actions cannot use field values in their URI.
C. POST workflow actions cannot be created on custom sourcetypes.
D. POST workflow actions can open a web page in either the same window or a new .

Answer: D

NEW QUESTION 7
- (Exam Topic 1)
Which of the following actions can the eval command perform?

A. Remove fields from results.
B. Create or replace an existing field.
C. Group transactions by one or more fields.
D. Save SPL commands to be reused in other searches.

Answer: B

NEW QUESTION 8
- (Exam Topic 1)
Which of the following knowledge objects represents the output of an oval expression?

A. Eval fields
B. Calculated fields
C. Field extractions
D. Calculated lookups

Answer: C

NEW QUESTION 9
- (Exam Topic 1)
What is the correct syntax to search for a tag associated with a value on a specific fields?

A. Tag-<field?
B. Tag<filed(tagname.)
C. Tag=<filed>::<tagname>
D. Tag::<filed>=<tagname>

Answer: D

NEW QUESTION 10
- (Exam Topic 1)
Which of the following statements describes macros?

A. A macro is a reusable search string that must contain the full search.
B. A macro is a reusable search string that must have a fixed time range.
C. A macro Is a reusable search string that may have a flexible time range.
D. A macro Is a reusable search string that must contain only a portion of the search.

Answer: C

NEW QUESTION 10
- (Exam Topic 1)
A field alias has been created based on an original field. A search without any transforming commands is then executed in Smart Mode. Which field name appears
in the results?

A. Both will appear in the All Fields list, but only if the alias is specified in the search.
B. Both will appear in the Interesting Fields list, but only if they appear in at least 20 percent of events.
C. The original field only appears in All Fields list and the alias only appears in the Interesting Fields list.
D. The alias only appears in the All Fields list and the original field only appears in the Interesting Fields list.

Answer: B

NEW QUESTION 15
- (Exam Topic 1)
Which of the following can be used with the eval command tostring function (select all that apply)

A. ‘’hex’’
B. ‘’commas’’
C. ‘’Decimal’’
D. ‘’duration’’

Answer: 
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ABD

NEW QUESTION 16
- (Exam Topic 1)
Which are valid ways to create an event type? (select all that apply)

A. By using the searchtypes command in the search bar.
B. By editing the event_type stanza in the props.conf file.
C. By going to the Settings menu and clicking Event Types > New.
D. By selecting an event in search results and clicking Event Actions > Build Event Type.

Answer: CD

NEW QUESTION 18
- (Exam Topic 1)
Which of the following file formats can be extracted using a delimiter field extraction?

A. CSV
B. PDF
C. XML
D. JSON

Answer: A

NEW QUESTION 20
- (Exam Topic 1)
To identify all of the contributing events within a transaction that contains at least one REJECT event, which syntax is correct?

A. Index-main | REJECT trans sessionid
B. Index-main | transaction sessionid | search REJECT
C. Index=main | transaction sessionid | whose transaction=reject
D. Index=main | transaction sessionid | where transaction=reject’’

Answer: D

NEW QUESTION 22
- (Exam Topic 1)
What does the fillnull command replace null values with, it the value argument is not specified?

A. N/A
B. NaN
C. NULL

Answer: A

NEW QUESTION 27
- (Exam Topic 1)
Which of the following statements about data models and pivot are true? (select all that apply)

A. They are both knowledge objects.
B. Data models are created out of datasets called pivots.
C. Pivot requires users to input SPL searches on data models.
D. Pivot allows the creation of data visualizations that present different aspects of a data model.

Answer: BD

NEW QUESTION 31
- (Exam Topic 1)
When should you use the transaction command instead of the scats command?

A. When you need to group on multiple values.
B. When duration is irrelevant in search result
C. .
D. When you have over 1000 events in a transaction.
E. When you need to group based on start and end constraints.

Answer: C

NEW QUESTION 36
- (Exam Topic 1)
Which group of users would most likely use pivots?

A. Users
B. Architects
C. Administrators
D. Knowledge Managers
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Answer: D

NEW QUESTION 37
- (Exam Topic 1)
In what order arc the following knowledge objects/configurations applied?

A. Field Aliases, Field Extractions, Lookups
B. Field Extractions, Field Aliases, Lookups
C. Field Extractions, Lookups, Field Aliases
D. Lookups, Field Aliases, Field Extractions

Answer: B

NEW QUESTION 42
- (Exam Topic 1)
Data model fields can be added using the Auto-Extracted method. Which of the following statements describe Auto-Extracted fields? (select all that apply)

A. Auto-Extracted fields can be hidden in Pivot.
B. Auto-Extracted fields can have their data type changed.
C. Auto-Extracted fields can be given a friendly name for use in Pivot.
D. Auto-Extracted fields can be added if they already exist in the dataset with constraints.

Answer: B

NEW QUESTION 43
- (Exam Topic 1)
Which of the following statements describe data model acceleration? (select all that apply)

A. Root events cannot be accelerated.
B. Accelerated data models cannot be edited.
C. Private data models cannot be accelerated.
D. You must have administrative permissions or the accelerate_dacamodel capability to accelerate a data model.

Answer: BCD

NEW QUESTION 48
- (Exam Topic 1)
When performing a regular expression (regex) field extraction using the Field Extractor (FX), what happens when the require option is used?

A. The regex can no longer be edited.
B. The field being extracted will be required for all future events.
C. The events without the required field will not display in searches.
D. Only events with the required string will be included in the extraction.

Answer: D

NEW QUESTION 50
- (Exam Topic 1)
Which delimiters can the Field Extractor (FX) detect? (select all that apply)

A. Tabs
B. Pipes
C. Spaces
D. Commas

Answer: ABCD

NEW QUESTION 51
- (Exam Topic 2)
Which of the following commands will show the maximum bytes?

A. sourcetype=access_* | maximum totals by bytes
B. sourcetype=access_* | avg (bytes)
C. sourcetype=access_* | stats max(bytes)
D. sourcetype=access_* | max(bytes)

Answer: C

NEW QUESTION 52
- (Exam Topic 2)
This tab shows you the event patterns in the results of a specific search.

A. statistics
B. visualization
C. patterns
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Answer: C

NEW QUESTION 56
- (Exam Topic 2)
Which workflow uses field values to perform a secondary search?

A. POST
B. Action
C. Search
D. Sub-Search

Answer: C

Explanation: 
https://docs.splunk.com/Documentation/Splunk/8.0.2/Knowledge/CreateworkflowactionsinSplunkWeb

NEW QUESTION 59
- (Exam Topic 2)
The transaction command allows you to ______ events across multiple sources

A. duplicate
B. correlate
C. persist
D. tag

Answer: B

NEW QUESTION 62
- (Exam Topic 2)
These users can create global knowledge objects. (Select all that apply.)

A. users
B. power users
C. administrators

Answer: BC

NEW QUESTION 67
- (Exam Topic 2)
The gauge command:

A. creates a single-value visualization
B. allows you to set colored ranges for a single-value visualization
C. creates a radial gauge visualization

Answer: B

NEW QUESTION 69
- (Exam Topic 2)
Splunk alerts can be based on search that run _______. (Select all that apply.)

A. in real-time
B. on a regular schedule
C. and have no matching events

Answer: AB

NEW QUESTION 71
- (Exam Topic 2)
Using the export function, you can export search results as _______.( Select all that apply)

A. Xml
B. Json
C. Html
D. A php file

Answer: AB

NEW QUESTION 73
- (Exam Topic 2)
When using the transaction command, what does the argument maxspan do?

A. Sets the maximum total time between events in a transaction.
B. Sets the maximum length of all events within a transaction.
C. Sets the maximum total time between the earliest and latest events in a transaction.
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D. Sets the maximum length that any single event can reach to be included in the transaction.

Answer: B

NEW QUESTION 78
- (Exam Topic 2)
What is a limitation of searches generated by workflow actions?

A. Searches generated by workflow action cannot use macros.
B. Searches generated by workflow actions must be less than 256 characters long.
C. Searches generated by workflow action must run in the same app as the workflow action.
D. Searches generated by workflow action run with the same permissions as the user running them.

Answer: D

NEW QUESTION 79
- (Exam Topic 2)
Which of the following searches will show the number of categoryld used by each host?

A. Sourcetype=access_* |sum bytes by host
B. Sourcetype=access_* |stats sum(categoryl
C. by host
D. Sourcetype=access_* |sum(bytes) by host
E. Sourcetype=access_* |stats sum by host

Answer: B

NEW QUESTION 81
- (Exam Topic 2)
These allow you to categorize events based on search terms. Select your answer.

A. Groups
B. Event Types
C. Macros
D. Tags

Answer: B

NEW QUESTION 86
- (Exam Topic 2)
What will you learn from the results of the following search? sourcetype=cisco_esa | transaction mid, dcid, icid | timechart avg(duration)

A. The average time elapsed during each transaction for all transactions
B. The average time for each event within each transaction
C. The average time between each transaction

Answer: A

NEW QUESTION 87
......
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